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There is a barrel with no lid and some wine in it. “This barrel of
wine is more than half full, ” says Curly. “No, it’s not, ” says Mo.
“It’s less than half full. ”

Without any measuring imple- ‘

ments and without removing any
wine from the barrel, how can they

easily determine who is correct?

ANSWER mmp,

Tilt the barrel until the wine
barely touches the lip of the
barrel.

If the bottom of the barrel is Peo
visible, then it is less than half full.

If the barrel bottom is still completely covered by the wine, then
it is more than half full.
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barrel n. g

lid n 23

wine  n. BEE, &

without  prep. 875, X

measure  vt. @, AE . AR, BHE
measuring  p.p. IS

implement  a. [% pl.] TR, B8
remove vt Bnl), FR, BX
determine  v. i, fE, AL .
correct  adj. [F#SY, #5460, MWIESY
tit v () W8, (&) B

barely  adv. (9%, RN

touch o A0, s, MK

lip  n BE, B%

bottom  n. &, mm, ISSS

visible  adj. BB, BEW, BEW
completely  adv. +4), 5254
cover vt E®E, H, &5
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If you put a coin in an empty bottle and insert a cork into the neck
of the bottle, how could you remove the coin without taking the cork
out or breaking the bottle?

Push the cork into the bottle and shake the coin out.
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coin n. @M neck n. M, BF
empty adj. =, [N, TEH push vt ¥, 3l
insert vt. A, B®RA shake v. $g5, 18
cork n.  ¥UKEE, UK

There was a very young princess who was very beautiful. Her
father thought it was time for her to marry. He held a series of com-
petitions. All of the men dropped out, but one, a peasant. The king
was very unhappy about this and he wanted to make sure the peasant
could not marry his daughter.

He placed 100 roses in a room. Only one rose was from their
garden. The rest were fakes. They all looked and smelled the same.
It was impossible to tell them apart. The peasant was very wise
though, and picked out the correct rose. How did he do it?

Hint:

He couldn’t do it if he didn’t get help from an animal.

ANSWER sy
He let a bee fly in through the window and the bee went to the

only flower with pollen.
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princess n. N\F fake  n. @Btx

marry vt &, - S58, impossible  adj. Rajegy,
= REREDR
a series of —%&%)| tell apart £y
competition n B, =R wise  adj. HEEARY, BAESLN,
drop out BH BREA8Y
peasant n. Rk, LTFA though  adv. g R, 2R
make sure e pick out i 7
place vt WE pollen  n. ¥ 5
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A horse travels a certain distance each day. Strangely enough,
two of its legs travel 30 miles each day and the other two legs travel
nearly 31 miles. It would seem that two of the horse’s legs must be
one mile ahead of the other two legs, but of course this cant be
true. Since the horse is normal, how is this situation possible?

ANSWER mulps

The horse operates a mill and travels in a circelur direction. The
two outside legs will travel a greater distance than the two inside
legs.
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travel v. 5#t distance n. ¥
certain  adi. E—1, BEY strangely  adv. Zigith
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